Hyunau

KONA AWD 20064MT

GROSS LOAD CAPACITY WHEN USED AS AWEIGHT CARRYING HITCH: 2000 LBS. TRAILER WEIGHT & 200 LBS. TONGUE WEIGHT.
***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***

PARTS LIST/LISTE DE PIECFS

Num | QTY DESCRIPTION Num| QTY DESCRIPTION

1 | 8 LOCK WASHER 5/16 7 4 |HEXNUT M10 X 1.5

2 | 8 FLAT WASHER 5/16 8 8 FLAT WASHER 3/8

3 | 4 HEXBOLT 8 X45X1.25 9 4 HEXBOLT M10X 40X 1.5

4 | 4 HEXNUT8X1.25 10

5 | 4 FLAT WASHER 1/2 11 o

6 | 4 LOCK WASHER 7/16 12| FILAGE SUGGERE / WIRING: 119147

ECROU DU SYSTEME
D'ESSIE

INSTALLATION :

- ABAISSER LE SILENCIEUX

- RETIRER LES BOULONS DE CHAQUE COTE DU PARE-CHOC (INNER BUMPER)
- ET LES REMPLACER PAR LES BOULON M8 X 1.25 X 45

- EN LES CHANGEANT 1 ALAFOIS

- PLACER LE GROS FLAT ROND CHROME DU COTE PARE CHOC

- INSTALLER L’ATTACHE EN L'INSERANT AUX EXTREMITES DES BOULONS (VOIRE IMAGE 1)

- PLACER ENSUITE UNE RONDELLE , UN LOCK WASHER ET UN ECROU POUR BOULONNER L’ATTACHE.
- DEVISSER L’ECROU DU SYSTEME D’ESSIEU ET RELIER LA PLAQUE TEL QUE DECRIT

- SERRER LE TOUT SOLIDEMENT.

SRG trailer hitches., warrants this product to be free of defects in material and/or workmanship at the time of retail purchase by the
original purchaser. If the product is found to be defective,SRG trailer hitches Inc, may repair or replace the product, at their option,
when the product is returned, prepaid, with proof of purchase. Alteration to, misuse of, or improper installation of this p

roduct voids the warranty. SRG trailer hitches Inc’s liability is limited to repair or replacement of products found to be defective, and
specifically excludes liability for incidental or consequential loss or damage.




